













Slide 11.

CLASSROOM  
EXAMPLE 3Using the Center-Radius Form of the Equation of a CircleFind an equation of the circle with center at 
$$(2, -1)$$
 and radius  $\sqrt{10}$ .Solution:Substitute  $h = 2, k = -1$ , and  $r = 3$ . $(x - h)^2 + (y - k)^2 = r^2$  $(x - 2)^2 + [(y - (-1)]^2 = \sqrt{10}^2$  $(x - 2)^2 + (y + 1)^2 = 10$ 

2012 2008 2004 Baamon Education In

Slide 11.2- 7

CLASSROOM  
EXAMPLE 4Completing the Square to Find the Center and RadiusFind the center and radius of the circle 
$$x^2 + y^2 + 6x - 4y - 51 = 0$$
.Solution:Complete the squares on x and y. $(x^2 + 6x) + (y^2 - 4y) = 51$  $(x^2 + 6x + 9) + (y^2 - 4y + 4) = 51 + 9 + 4$  $(x + 3)^2 + (y - 2)^2 = 64$  $[x - (-3)]^2 + (y - 2)^2 = 8^2$ The circle has center at (-3, 2) and radius 8.







